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—HBEF

1| &Rf | 2 |vs| 1| W& | 6 | &RM | 2 | vs AT

2| /e | 0 | vs| 3| WET | 7| MEH | 1 | vs WSt

3| ®RM | 2 |vs| 1| EEHE | 8| A | 2 | vs HEMH

4 | &M [ 1 |vs| 2| Avadh | 9 | @RE | 2 | vs wmS™

5| WS | 3 |vs| 0| F&EA | 10| METH | 2 | vs HEMH

PaL] i) J—Ah -
f5 = i = = B ES =

&R 4 0 8 4 4 38 23 15 1
& 1 3 5 7 -2 22 35 -13 4
/AT 2 2 5 7 -2 26 36 -10 3
HET 3 1 9 3 6 42 17 25 2
] 0 4 3 9 -6 22 39 -17 5
TEFESEF

1| MM | 3 |vs| O | MEM | 8 | NI | 1 | vs gExEm

2 | WS | 0 | vs| 3 | BEEM | 9 | MEMH | 1 | vs =

3| BMEET | 2 |vs| 1| B | 10| WEH | 2 | vs B

4 | MEH | 1 |vs| 2| &R | 11| BEED | 0 | vs &RM

5| &M | 0 |vs| 3 | @WEH | 12| MEH | 2 | vs SRIEH]

6 | BEEM | 3 | vs | O | EUEET | 13 | MNET | 1 | vs Bl

7| BWfm | 1 |vs| 2| @RM |14 BT | 1 | vs &IR™

POL3 Gir=) J=A -
f5 = B = = B % =

ESGE] 2 2 7 5 2 37 28 9 3
& 0 4 2 10 -8 17 43 -26 7
WS 2 2 6 6 0 31 31 0 4
gesEm 3 1 8 4 4 37 27 10 2
RNEHET 2 2 5 7 -2 30 32 -2 5
B 1 3 5 7 -2 26 29 -3 6
&R 4 0 9 3 6 36 24 12 1
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—fREF

1| ®Bm | 1 |vs| 2| &R | 4| €RM | 3 [vs]| 0 | A6

2 | BEETM | 2 | vs| 1| AT | 5 | @S | 3 [ vs| O | AVMAT

3| ®W5® | 3 |vs| 0| BED | 6| &RH | 3 [vs| 0| #EES

POt iy =1 -~
7 = B = = = ES =

WE™ 2 1 7 2 5 33 11 22 2
&R 3 0 8 1 7 32 15 17 1
feEm 1 2 2 7 -5 18 30 -12 3
NN 0 3 1 8 -7 8 35 -27 4
TFELF

1| MM | 2 |vs| 1| &R | 7| ®RM | 3 |vs]| 0| MES

2 | RUEET [ 3 | vs| O | MOE™ | 8 | BWEET | 1 [ vs | 2 | AWM

3| BWdm [ 1 |vs| 2| ®WEH | 9| MKW | 1 |vs| 2| WBM

4 NEIGH) 3 |lvs| O EWEET | 10 | &RW 2 lvs| 1 b=

5| &S | 0 |vs| 3| B | 11| mM&EH | 0 | vs| 3 | WED

6 | @RM | 2 | vs WS | 12| MEE | 2 | vs| 1 | BWLE

PaL] =y J—A -~
B = 7 & = = ES =

NESGH) 3 1 8 4 4 39 20 19 1
&R 3 1 8 4 4 36 26 10 3
SRS 1 3 5 7 -2 27 37 -10 5
& 0 4 0 12 -12 10 48 -38 6
B 2 2 7 5 2 33 28 5 4
WE™ 3 1 8 4 4 38 24 14 2
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